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800m = 5660 |HF 2H7%  |4Hh IS Vi) 2 6 9
800m = 23-19 (B BF NMh7 13 FAEE 2 7 2
800m = 214-17 |KET|E FHFK A M eyt 1 7 3
800m = 7273 |#EE WA |30 TV EEtLS 3 7 4
800m = 7963 |tHA SKEER |hIV I R L 1 7 5
800m 7z 7288 |3XE RRE |7HE A1) EEELS 1 7 6
800m 7 7290 |E¥F EZE 93] 24h EEdLS 1 7 7
800m 7 23-18 |hR EEF +hi7 TYH SR 2 7 8
800m =S 7270 |BAtk B ke 7ht EEtLE 3 7 9
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i H 4 Bl | BEES BikE 4 K413 T I 4 W 7R FAR| g Mo v %=
1500m k28 7005 |FH EA k31 47 B)IE 3 1 1
1500m S 7284 |Hth KR afh 45 EEtLE 2 1 2
1500m E°8 6201 |/tk EE 'y 1 EHSE 2 1 3
1500m 7 7143 | FA L# ¥y a3t ®HE 2 1 4
1500m =z 912 |®  FE Y FY HEKR 2 |#E 1 5
1500m z 9941 |RBir FE 75 F vt BANLAER 1 1 6
1500m = 7173 |EE HUVDB O |F)3IY T BES 2 1 7
1500m = 9942 (¥ OaE 7 F I BANLAER 1 1 8
1500m = 7964 | KE ER 153y AL S 1 1 9
1500m = 2099 |tk WEE My B33 LY x> RAC F1 1 10 |EEHEH
1500m = 2188 |#tAk M 7% 199 SASAKI H2 1 11 |hmh
1500m = 23-6 [R  ERM A2 2434 TR A 2 1 12
1500m = 7170 | & v¥/ 19 EEE 2 1 13
1500m = 7144 | KB EFE 2439 ¥4+ %55 2 1 14
1500m = 7014 |HhH =H The 5 ielE 2 1 15
1500m = 7590 |:&ZH % 5 vAF FEH S 3 1 16
1500m ko8 7965 |#&)I H ERY IV FEBTE LS 1 1 17
1500m =S 2097 |57 FK 13z M LY x> FAC 1 1 18 |RMEE_F
1500m = 756 |@R TEiE ADNG ik BALMRES 3 1 19
1500m 7 774 H EE A13Y 73 BHRILRES 2 1 20
1500m =z 1022 |l B +hy v hek RERRER 1 21
1500m 7 5163 |far FRR 7742 3 IR ST = 2 1 22
1500m £y 5887 |BEA WERE |7V T Wt Zils 3 2 1
1500m = 6244 |FIE BKHE 1Y v ko [ipadr=s 3 2 2
1500m £y 5162 |FHRHE #HTF 4 ¥Y3 3 = 2 2 3
1500m = 5120 |/ OB 14y 319 £ 2 2 4
1500m = 2180 |Z@E EMW 24 I SASAKI #3 2 5 |MEF
1500m = 7963 |fRE KEEER  |AIV ILY FEAE LS 1 2 6
1500m = 9% |FE ME LI HA EHPEZA 3 2 7
1500m z 7962 |tkE4A HFS |4 of REBTE LS 1 2 8
1500m %z 755 |BE EXR 1Y% 74+ BAILRES 3 2 9
1500m S 5106 |thA M WEr 24 E2=) 3 2 10
1500m E°8 5156 |JIIBE BpE HTY vk 1525 = 3 2 11
1500m 7 7990 [@A & 154 1% FEAELE 3 2 12
1500m 7 5888 |EH ZiE VN zils 3 2 13
1500m 7 7132 |EBH &S N Y97 vk B3 e 3 2 14
1500m o8 5859 B EX T8 F bt Zils 2 2 15
1500m 7 2039 |&=BE K& RANVEY 7a—L 2 16
1500m £y 6982 |HE Ek YR 747 gty 3 2 17
1500m 7 2182 |HiB FLZE  |v4s Hn SASAKI F2 2 18 |fEEF
1500m = 5886 |EEF BAE 7T iz 3 2 19
1500m = 9943 [ lLO #1318 Y3y F 7Y BARILRES 1 2 20
1500m = 5110 |#F  T& ek E3= 3 2 21
1500m = 773 [{ER E®B v13 1t BARILRES 2 2 22
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i H 4 Bl | BEES BikE 4 K413 T I 4 W 7R AR fdkex | oM | v %=
1500m k28 708 |Mag 383 Y % T8 FELEL R 1 3 1
1500m S 5857 | WER |{Fth $7 ziE 2 3 2
1500m %z 2190 |#AK HAIE |ax £ 7An SASAKI F3 3 3 |&EBEF
1500m 7 132 |A# A £47 #h EHEZELZ K 1 3 4
1500m =z 775 @A ETE 7% TAh BALMRES 2 3 5
1500m = 18 |(MmE =5 7% f1 HARRAHES 3 | KBR 3 6
1500m = 747  |MRE A 17 %47 BARILES 3 3 7
1500m = 656 |HFT (= Eyz 2 i ON 1 3 8
1500m =8 6985 |=@E @ = 197 744 gt 3 3 9
1500m = 5103 |/h\E HEHfE%  |33v vt E3) 3 3 10
1500m =8 5101 |¥=2 E 77y 1f EX) 3 3 11
1500m = 746 [#AR EE VNN BANLRES 3 3 12
1500m = 5105 |*¥@E & Sz LV E3= 3 3 13
1500m = 5411 |ERF AEE |197 777 Eits 3 3 14
1500m = 5407 |BR =B 77 Mt BilkE 3 3 15
1500m = 693 |FE =< [9h¥47 REBHEL K 4 3 16
1500m = 7772 |BE T|HF 40N TRR UmBETES 2 3 17
1500m =S 702 |&iE M ahny nt FEBNEL K 2 |duiEa 3 18
1500m % 700 |[Em 2EE DL SENVEN R ELKR 3 |#E 3 19
1500m =S 720 |HHE A 8 Wt FEBL K 4 3 20
1500m 8 6980 |[iLFx FE YYE) 7hN ARE 3 3 21
1500m S 634 |H)Il I r VAV [GiEEN 4 1A= 3 22
1500m 8 698 |A0 #E 427 782 RN ELKR 3 |&E 4 1
1500m 7 696 |tk ERE Ny £+ RESHEL K 4 |0l 4 2
1500m E°8 58  |Et EF 447 14 SImEER 1 |k 4 3
1500m 7 57 | KB H%F A14 1% RVATY =N 1 4 4
1500m = 653 |TTE w%H a4 (i ON 1 |&E 4 5
1500m 7 2039 |RBE K& ANVEY 73— 4 6
1500m %z 614 |EL #F hnvv 17+ BAEAER 2 KB 4 7
1500m = 5104 |4H 2F YN R 1A EX) 3 4 8
1500m 8 654 |fEk EBE 7910 73 i ON 1 |xE 4 9
1500m S 697 [EHN M L7 14 FREBRFEL K 4 (B 4 10
1500m = 701 |%M =A VG RN ELKR 2 |BiR 4 11
1500m S 7771 |f@l kRE 79%% 1% IR AR 2 4 12
1500m % 707 |@AF FHE 2+h T RN ELZ R 1 |E 4 13
1500m 7 5102 |5H# FHs 434 wkn e 3 4 14
1500m = 7765 |E#E 4 bt ¥ AETAS 3 4 15
1500m 7 2686 |E@ EBE yany ap3 FAEH AN 4 16
1500m o8 704 |BA HoHx  [¥7 97 713 RN ELZ R 2 |us 4 17
1500m 7 639 |EAX FBE JZER F GiE5ON 3 |RE 4 18
1500m %z 7776 |Bk TFE Y Fh M EEFIAS 2 4 19
1500m 7 7775 |fEBE wdH ¥y a7 IR AR 2 4 20
1500m <8 603 [liE AkAH |FeE v I RS EXR 4 |FiE 4 21
1500m 7 657 |LA HiE YYEh GiESON 1 |EiE 4 22
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i H 4 Bl | BEES BikE 4 K413 T I 4 W 7R SRl fossk | M| vy %=
100mMH(76.2cm_8.0m) k28 214-10 |Fl 2= =4 h)y HHEH 1 1 3
100mMH (76.2cm_8.0m) S 83-85 |#®E2 #A vy v IR ¥ K= 3 1 4
100mMH(76.2cm_8.0m) % 25-8 |MH 1EH ¥4 17% NG 3 1 5
100mMH(76.2cm_8.0m) 7 28-3 |42 MF 44 7 £81 TRF 3 1 6
100mMH(76.2cm_8.0m) ES 50-10 |RUE AEEE 1357 14h AL 1 7

i H 4 Bl | BaES BikE 4 ZZZER T I8 4 W 7R SRl fossk | M| vy %
100mU18H(76.2cm_8.5m) =S 5856 |&fE FE Y279 34 =] 2 1 4
100mU18H(76.2cm_8.5m) k28 7013 |[fR @ H +hn3 54 ‘IS 2 1 5

i H 4 Bl | BaES BikE 4 SZZER RS SRl fosek | M| vy %
100mH(83.8cm_8.5m) =S 114 |BW T A Frvp ERPELZKX 2 |EE 1 2
100mH(83.8cm_8.5m) 7 29 MmE e TEY 7 R EpEER 2 1 3
100mH(83.8cm_8.5m) =S 139 |FKE BK NE /A EHZELZ K 1 1 4
100mH(83.8cm_8.5m) z 51 HH IHE  (3F 1Uh AR I PN 1 5
100mH(83.8cm_8.5m) = 6237 |k Fix yIYY UF (AT 3 1 6
100mH(83.8cm_8.5m) ©z 7902 (4~ EE AN V47 REES 3 1 7
100mH(83.8cm_8.5m) = 7901 |fE AE 14 /7 REER 3 1 8
100mH(83.8cm_8.5m) = 678 |&R A”HE M BHEEX 3 |BRS 2 2
100mH(83.8cm_8.5m) = 377 |2 MMER vy 7ht E N 4 2 3
100mH(83.8cm_8.5m) = 2 RREF SRIE T4/ ZZ N A EER 4 | KB 2 4
100mH(83.8cm_8.5m) = 7912 |t =B J2/% FEBE = 2 2 5
100mH(83.8cm_8.5m) %z 5741 |# L HH EUESN EPE 3 2 6
100mH(83.8cm_8.5m) = 82 &M IREF CEIRUAN ERZELZK 3 2 7
100mH(83.8cm_8.5m) S 5884 |¥UIH XA |-1x 4 Zils 3 2 8
100mH(83.8cm_8.5m) ES 385 |dA ER 447 ¥ FHK 2 B 3 2
100mH(83.8cm_8.5m) 8 5701 [BFR =% £3a07 3721 BPE 2 3 3
100mH(83.8cm_8.5m) S 7563 |RH B Y42 bk FEBNHE 2 3 4
100mH(83.8cm_8.5m) = 7562 |k EF IYER 1/ RE S 2 3 5
100mH(83.8cm_8.5m) 7 7951 |&KMA —7t MA EM BT ILE 2 3 6
100mH(83.8cm_8.5m) ©z 5885 |FRAK HkiE Y b Zils 3 3 7
100mH(83.8cm_8.5m) = 142 |BE#E &E et 7o+ ERZELZK 1 3 8
100mH(83.8cm_8.5m) = 5409 |FAk BEF 77% 13 y-F A 3 4 2
100mH(83.8cm_8.5m) = 7952 |thdt = Hh¥a 3t REBT LS 2 4 3
100mH(83.8cm_8.5m) = 7131 (#ELL B OV U 9w/ 555 3 4 4
100mH(83.8cm_8.5m) = 7140 |HIE 2 TV 7 ®eyE 2 4 5
100mH(83.8cm_8.5m) = 6205 |t EE vy A UF S 2 4 6
100mH(83.8cm_8.5m) = 6990 |&F BfHF D33 744 ARE 2 4 7
100mH(83.8cm_8.5m) = 7172 |EH XF IE TN BES 2 4 8
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i H 4 i R E A K413 BT 40 W TR FAE o v
400mH(76.2cm_35.0m) 7 BT ®%a |/ 7% BVAC PN 2 1 2
400mH(76.2cm_35.0m) 7 AB FEE |72 EivE 2 1 3
400mH(76.2cm_35.0m) 7 HI HIE A9 L7 EHRYEZX 4 1 4
400mH(76.2cm_35.0m) 7 FEPIT ISP AYY 47 RERAE LS 3 1 5
400mH(76.2cm_35.0m) 7 i ERE =M U ERZEZK 2 |EE 1 6
400mH(76.2cm_35.0m) = SH IE 134 14 ARE 2 1 7
400mH(76.2cm_35.0m) z WE ZBMY |t T8 FE X = 3 1 8
400mH(76.2cm_35.0m) = il BE SACEVY) figicts] 3 1 9
400mH(76.2cm_35.0m) k8 /O kK#E 425 F % R = 3 2 2
400mH(76.2cm_35.0m) = PR H +h13 44 b= 2 2 3
400mH(76.2cm_35.0m) = 5 1&A yI/ 1y ¥ A LS 2 2 4
400mH(76.2cm_35.0m) = ER % £y A JL I 3 2 5
400mH(76.2cm_35.0m) =8 BiER AL (242798 REBLF e 3 2 6
400mH(76.2cm_35.0m) = =iE BEE (4w TA REE 2 2 7
400mH(76.2cm_35.0m) 8 == HE vr v RS 3 2 8
400mH(76.2cm_35.0m) 7 BEH B ¥4 €3y %55 2 3 2
400mH(76.2cm_35.0m) 7 KA i PELY IH HEKR 2 |we 3 3
400mH(76.2cm_35.0m) 7 R OEN YING bk ARE 3 3 4
400mH(76.2cm_35.0m) S Fl &4=% PN Bl 3 3 5
400mH(76.2cm_35.0m) 7 it EfE +hER 3 REBAE LS 2 3 6
400mH(76.2cm_35.0m) = ERWL MR | aiT I = 2 3 7
400mH(76.2cm_35.0m) 7 HE ooh (M5 g ts] 3 3 8
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E=k "8 50-10 |[Kig mEfE 1393 245 AL 1 1
EmBk S 214-1 |18 #= NN 1A EHEF 2 1 2
E= Pk E°8 88-86 B8R —1t SOVESY! A& 3 1 3
EEBk 7 88-88 [|iLA FoA  |¥VEr /D A 3 1 4
E= Pk 8 6617 |BEH #H2 75 4 eAh R 3 1 5
FEmbk = 5154 |/NE FRKE 7 v1 W U B 7o 3 1 6
Em bk ©z 5625 |:&% T LIE |19 va3 TS 2 1 7
Em bk = 7004 |FEME AM =8 NI 3 1 8
Embk =8 766 | BF EF S BEXES 3 1 9
ESk = 7140 |HIE 12 TNV Y5 ®£55 2 1 10
Embk =8 6207 |=8F < BH |2 i, 2 1 11
Embk = 5826 |/\BF I 1) THF BT 3 1 12
Embk £y 8012 |FA& BER®K |FvEb 7 S 3 1 13
Embk = 8015 |k B4 FEF (Y3 T EHh FEEERS 2 1 14
Embk £y 5107 |l ¥ZE thy ¥ 4nn E3= 3 1 15
Emk = 5745 |EE EE RIVRZY BE 3 1 16
E=k E°8 5703 |[XFF EA Ay % BlE 2 1 17
EEBk =S 387 |MAT I ath 74 FHK 2 1 18
E= Pk E°8 5353 |RIF Ft USVERY ba BES 3 1 19
Embk 7 5109 |ER %<& I ThA E2S) 3 1 20
EmBk % 6995 (&R %= 7917 19 ARE 2 1 21
Em Bk 7 7562 |WA EHR WEL N/ TN = 2 1 22
E= Pk 8 7564 |l BEE ¥vFh vt RE S 2 1 23
Embk = 5621 |l BXEE Yeth % s 3 1 24
E= Pk o8 6997 |ME WAL |VF UrE Y gty 2 1 25
EEEk ES 28 TR @ EA 4T N B AVA= =N 2 |EE 1 26
FiH 4 B | wekE S B4 K433 7T 4 W AR fhosdk | M | v ik
Sk E°8 6990 |&F Z|F h%a 744 BRS 2 1 1
HEm Bk Z 6572 MBS #R3R byy' 1 tEES 2 1 2
=Sk o8 5474 |RIR BT ang 3h JeuEis = 2 1 3
Bk 7 784 (@R BAE |7 tey EEXRES 2 1 4
bk 8 5636 |AHK LT £47 TM PS5y —L 5% #3 1 5
Bk = 6996 |EAR BEZFE |FUH RS 2 1 6
Em bk =8 6571 |[Z&X TA ¥ £ 7Y tEAES 2 1 7
Bk = 5354 |=A& ®%H N vl EEE 2 1 8
HEE Bk %= 5473 [#E#E #2IR 338 Y HA Bla = 2 1 9
Bk = 279 | KT BE v h/y RELK 3 1 10
bk = 768 |fME FO1E 7/ Th =EXES 3 1 11
ek = 750 |HF KE 4+h 1Y) =2EXER 3 1 12
Sk = 133 |k 1&& IN Yy b ERFELZA 1 |ERE 1 13
Bk = 751 |k IRE N XY B8 2EREE 3 1 14
=Sk 7 97 WA BT YeER A ERFELZA 2 |2 1 15
ek S 283 |/N\B3F EAE  (4/7 7 tmh EEtEAR 2 |dima 1 16
EE bk = 6977 |RIl *¥A Avh7 19 % [iEpe=) 3 1 17
Bk S 5352 |RA & 4 19 EEE 3 1 18
EEbk = 74 =i fEX 33y 14 EHRPEZX 4 |EFE 1 19
e Bk S 7% |F B ) bf BEHEFEZX 3 | 1 20
EEbk %= 78 KiRa BHE 4445V THY EHRYEZX 3 | EE 1 21
ik =S 91 atk B TN ¥y 1Y ERZPELZKX 3 |EE 1 22
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TR "8 719 | kB #T 9L VXY HLK 2 1 1
FENREK S 28-12 |BA #H 2 1 T®RF 2 1 2
TRk E°8 5831 |%#%H HE NN bR RG] 2 1 3
FETRBK 7 749 (BF & 4 £77 ERERIEE 3 1 4
E Bk = 6207 |=8F < BH |3V g1 r=) 2 1 5
FERBE = 8011 |E# BS hYN ¥y 3En FEBEER 3 1 6
FERBk 8 8014 |BVAE mE VSr RN A S 2 1 7
E MR Z 7561 |#Bh HOVA  |FF Yv Ftn R XH = 2 1 8
EMRD =8 5705 |#EJII  Eep VNI, EPE 2 1 9
FENEB = 5326 |#pA ZEE AR E 7Y il 2 1 10
E MRk =8 7012 |®E @K th v aq BIS 3 1 11
FENEBE = 5111 |&  &X A7 vt EX) 3 1 12
E MRk £y 5324 |l BE ¥UYv 1Y Hh= 2 1 13
FENRBE = 8725 |ER = 1 ¥ 3 REEF S 2 1 14
E TRk £y 28-13 |iEk D YR U TR 2 1 15
MRk = 6524 |EME FifE knt Uh B 3 1 16
TR E°8 5151 |REH B4 '/ i 1555 = 3 1 17
FENRBK S 6994 |@BHE & 794 193 ARG 2 1 18
TRk E°8 5747 |FHE F4 735 1+ B5PE 3 1 19
FETRBK 7 383 |BERE —# 7% 95 4Fh FHK 2 1 20
e E°8 6979 % UHD % bt/ BRS 3 1 21
FERBK 7 7363 |#E BPH |[vrvan TtES 2 1 22
TENRBE %= 7951 |(kH —TE MA EM REAELE 2 1 23
Rk 7 5743 |hlE DdE Jyv 31 SPE 3 1 24
NPk o8 6204 |&F B |42k7 ) G 2 1 25
E Rk 7 5741 | b H 19 b2 SPE 3 1 26
ENREE = 5108 |[)11#E =M H7t 3k EZS) 3 1 27
FENEBE = 5623 |EA T 2%ER 792 s 2 1 28
FENED ey 6238 |dbil BHE 457 Lt S 3 1 29
TRk 7 7585 AN thiE N7h7 1% RE XS 3 1 30
ENEDk z 5701 [BFR =% $3an3 371 BPE 2 1 31
FENREK ES 63 AR ZZA  |¥47 2310 BHEFEZKX 3 |ua 1 32
TENE B 8 6236 |r@E T 914 73 izt 3 1 33
FENRBK 7 927 |&FR 2% ) 374 RN 3 1 34
TRk 8 7583 |A@E  E 175 ¥4 R = 3 1 35
FETRBK 7 5744 [EE =it YR Int SPE 3 1 36
FEMEB 7 6601 |=BE #HE N YRS BHS 2 1 37
ENE Bk 7 2280 |mR EN 1717 1k JBERENEXT 1 38
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fEHA B | BEE&S BEE 4 KR4 P& 40 W PR AR R i1 V=v 6+
F4#% (4.000kg) "8 7968 |Bem 0 E ny95 Uy FEBTE LS 1 1 1
U35 (4.000kg) "3 7967 |ER EDNS FEFE LS 1 1 2
F4#% (4.000kg) %z 749 @B #E ath %35 =2EXES 3 1 3
T 3% (4.000kg) 8 7171 |RH BX ¥/ vt BES 2 1 4
% (4.000kg) 8 5254 | K#& TE% Ay bk LS 3 1 5
4% (4.000kg) 8 5822 |& mxk NErFh T BIorE 3 1 6
F A% (4.000kg) 58 376 BRA BE #hEh #42 BN a E 1 7
g A% (4.000kg) = 7956 |WT fE YYER 1t FEAE LR 2 1 8
T L% (4.000kg) = 7995 |E@FH #E 2]k REBF LS 3 1 9
T 3% (4.000kg) =S 7368 |BA FH4 JE +F tES 2 1 10
Fh#% (4.000kg) =z 395 A HEEsk  [zva i REKR YIPN 1 11

fHA B | BEES B4 K423 P& 40 W PR AR R i1 V=v %5
FaM % (2.721kg) 8 88-4 |lEFH BB Ry K& 2 1 1
Bha% (2.721kg) 8 88-84 [A# FHTE |¥h7 Mh AEF 3 1
Fah % (2.721kg) E°S 83-87 |H1B E I RL A 3 1

i H 4 B | BEES Wi 4 EEZEN T )& 44 W Bk PR Rk L Vv ik
FI%24% (1.000kg) E°8 7968 |BeE 0 E ny95 Uy FEBTE LS 1 1 1
FI#&4% (1.000kg) S 5889 |&M HE THN Yy FAT ziE 3 1 2
MI454%(1.000kg) z 5661 |MNBE EEH H bF i 2 1 3
FI#27%(1.000kg) 7 88-83 |# L IA{E L7h3 b AEF 3 1 4
FI#&4% (1.000kg) z 767 |RF O AM Thi BREXIES 3 1 5
P27 (1.500kg) = 5472 |EHE =2 Y8 I JLlEig = 2 1 6
FJ#84%(1.000kg) % 509 =) FE avh7 #4h KBRS KR 2 | KB 1 7
FI#8#%(1.000kg) S 6239 |[#i% = VAV i) 3 1 8
P4 (1.000kg) S 7969 |KPE 1&A8 v 1% REBF LS 1 1 9
FI#8#%(1.000kg) S 5408 |E{R BR 4793 EilE 3 1 10
FI#8#%(1.000kg) S 5061 |&f EHE |4247 /Y o= 3 1 11
FI#%4% (1.000kg) S 5255 |iIAK &< |4 ¥ s 3 1 12
FI#24% (1.000kg) % 7966 |& NrF 4z nvf BT L 1 1 13
FI#%4% (1.000kg) 8 7364 R = Y % 744 tEE 2 1 14
FI#&45(1.000kg) z 80 |JIIFE A n7=y PV ERZPELZKX 3 1 15
FI#24% (1.000kg) z 5620 |=T £ SR TS 3 1 16
FI#83%(1.000kg) 7 17 FEE 0 & a/h RVATY:EPN 3 | KB 1 17
FI#24% (1.000kg) "8 31 |&  EH £ Yy IEER 2 1 18
FI#4%(1.000kg) S 395 |A EREER =31z REK 2 | KB 1 19
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i H 4 Bl | BEES BikE 4 K413 T I 4 W 7R SRl fossk | M| vy %=

1) $(0.600kg) % 5858 |fFEI W& 1% #/1 zils 2 1 1
% 1) #%(0.600kg) z 7967 |ER W EVS FEBTE LS 1 1 2
% 1) $%(0.600kg) =S 6203 |mAH BH sha vt gz 2 1 3
% 1) #%(0.600kg) 7 7187 |EH EZ iz 3 b ) 3 1 4
X 1) #(0.600kg) z 5824 L #hfE Y9 71X mkEE 3 1 5
X 1) #(0.600kg) S 8723 |BA&R WEE [sztb1p) FHEFES 3 1 6

% 1) % (0.600kg) z 805 |RF HZE 17K 7 EFSY-@N 2 |=R 1 7

% 1) #(0.600kg) 7 6239 (3% =8 VAV PSS 3 1 8

* 1) #(0.600kg) S 7955 |=# BB 97 bt REBFILS 2 1 9

X 1) #%(0.600kg) = 6979 | 0VAD ¥ bF/ ARS 3 1 10
*° 1) #%(0.600kg) S 272 |R R A2 2 29 %N 4 |=H0 1 11
x> 1) 3% (0.600kg) = 5742 |BO Hk )7 ¥+ B¥S 3 1 12
x> 1) % (0.600kg) S 705 |FE BF 734 REBHEL K 3 1 13

fEH4 Bl | BEES BikE 4 K413 T I 4 W 7R SRl fossk | M| vy %=

/N7 —$(4.000kg) =S 7969 | KFE &R Ay 1% FEBTE LS 1 1 1
/N7 —$(4.000kg) S 7966 |& v F 4z nvf REE L 1 1 2
/N7 —$(4.000kg) =S 5858 |fABE HWE 1% 5/ ziE 2 1 3
/N7 —$(4.000kg) 7 5890 |#tk E Y 90N ¥ 1Y ziE 3 1 4
/N7 —$(4.000kg) 7 6381 @Il FaxE (=97 H2 AL 2 1 5
/N —#(4.000kg) = 291 |(ma IR A1 B 2 |BR 1 6
/N —#(4.000kg) z 7364 |BME = oY £ 744 TtES 2 1 7
N —$%(4.000kg) g 7956 |Mm TE IVER N REALS 2 1 8
N> —$%(4.000kg) =4 529 | KB Ex 4743 KEA 1 1 9
/N —$%(4.000kg) = 7995 |1E®F AL 2] et REBT LS 3 1 10
/N> —$(4.000kg) = 5 g =Y Thy v 39 RVA=) PN 4 |BH 1 11
/N —$%(4.000kg) % 19 A YYEk Y RVA=) PN 3 | &E 1 12
/Ny —$%(4.000kg) = 394 |BtE8 B4F s e REK 2 1 13
/N —$%(4.000kg) = 393 [N @ IS REK 4 1 14
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